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ONdgE 2 R01AH 9= 200,000& x12& 2,400
OAxsE Y93y 7Y 1,000,000& 1,000
02 =229 10,496 10,828 N 332
o322 % MA 6,800
ONdgE HIIR= 550,000& x12& 6,600
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A 322

H: HES MBHY TH Y NP WES
Sl MDA L NRWEE 043 (5 &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
SEEEEFTESE 100,000 +23] 200
CIEL 696
OHER(E8)7L 87021 %800 £ 696
CNEE=FIEME 3,000
Oz JKzel 1,000, 00024 *33] 3,000
206 &Y 1,800 450 1,350
01 =t 1,800 450 1,350
OTHESE HEF ASUHE PY(LEH)
15,0002 *10 £ *122 1,800
01 YsBAZ 280 120 160
12 JlErEAa 280 120 160
OTMESE HER 922 2Y(M,54)
20,0002 7% 23| 280
nEMEE 2 Y 237,818 164,603 73,215
201 L2yl 7,733 9,003 8,735
01 AFRarelt] 16,370 8,120 8,250
CETRS=Y] 16,050
OELE=RIPY 10021 %40, 0000H 255 8,000
OB2 AEIH A= 5002 *1,50004 %23 1,500
OE2 49 R 60, 00021225 * 1204 £ 1,440
OMESBHAAMET MULEL42
710,002 18] 710
OHFEXKE Hel2st|
1,100, 00021 #25] 2CH 4,400
o1 =l 320
OMESTE LT NEHEE
80,0002 4% 320
00 B2 1,368 883 485
02222 2 AA 1,368
ORBL3 1,368
. e 22021 +2,00004 440
. S71 1, 72024 %5000} 860
. SolEs 1, 50024 *4504 68
203 YREXY| 500 500 0
03 AMFELRFIY| 500 500 0
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A 322

Mai: ot MBEY I8 L N HES
el MDY L NAWES 2043 (£ @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
CREREEECIEEES 500,000 500
206 Mzl 54,900 1,500 53,400
01 Mzl 54,900 1,500 53,400
OMESE =22IthE AZS 29 39,900
o2+ ME 2 500,000 %124 6,000
ONMZEE MSOIH(D2Y) M 2
5,00024 +4, 3807H 21,900
OJEE MEEE 2BBEI| KE 7Y
5,00021 *2, 40004 12,000
ORAX MESS S2l+H0 & (M
2e) 500,0002! *300H 15,000
01 YsrEaZ 164,680 152,800 11,880
ETECE 1,680 0 1,680
OMEESE =2liiE HEHE HAX 34
bl 7,00021x20% +125 B4 1,680
12 JlEtR A 163,000 152,800 10,200
OTMEEE WAUS +TH(RUS, &
o5l 5) 2y 10,000,0002! * 122 120,000
OMEEE WAUWZ0 0E Zei2
120,000, 0002 30% 36,000
OI1ZSE SALALE NDENS
50,0002 +2021 1,000
OTEEE 2ol4H 24018 24 6,000
oxe+ 2,000,0002 17§ £ 2,000
o2+ 1,000,000 %204 2 2,000
o= 500, 00021 #47H A 2,000
SHZRHIIZ Hel 1,368,618 1,327,645 40,973
201 L2yl 8,220 5,500 2,720
01 At 2tel| 8,220 5,500 2,720
LIRS 8,220
Os=22 o 10021+70,00004 *13] 7,000
2HHE AEIH HME 5002 *1,00004 500
Os= 4o H= 60,0002 * 1274 A 720
206 Mzl 52,638 286,512 233,874
01 M=zl 52,638 286,512 233,874
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A 322

H: HES MBHY TH Y NP WES
ol MDY U NAHES 045 (S5l &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 il b o bRz
OSME2RHIIZ ZZH ¥88) 7Y 35,120
OstsFe(50) 8,0002 * 1207122 1,520
OARDASZ(204) 18,0002 +500H 122 10,800
OZSF(50) 8,0002!*1,000A1 CH 8,000
OB2A+0BII(1202) 2L (BAS ST
<) 80, 00024 %6071 4,800
OSMSRHIIS HRES(F) M 16,642
OHtExe(50) 2381 %29, 2000} 122 8,060
OAPSAZE(200) 29215, 1007+ 122 5,255
OZSFe(1201) 332148, 4000+ 122 3,327
OSAEZRHIIE SZH ¥88I| g2E
5(3) 228 2 876
OctsFe(50) 40021 #1200H+ 122 576
OATRSAAE (200 ) 500! #5070 * 12 300
01 YBEHS 16,760 30,600 13,840
10 BAMHEAS 1,400 1,800 2400
OSASRHIIS S2HE 1S L M2l
o AT 2AY) 7,002 1002 23] 1,400
12 JIERN3 15,360 28,800 A13,440
OJEZMELZN SASRHIIZ HRES
(&) 2 242 X 15,360
ot xe 10021+ 1, 200K CH =82 » 122 1,520
S 8002 *400 Al T » 122 3,840
307 2120l 1,112,800 668,573 444,227
05 OIIES 1,112,800 668,573 444,227
CENEESBIE LI Y=
85,0002 +12, 400 1,054,000
OSAMSRHIIS RS (F) T3ALD
21t 4,900,002 122 58,800
403 RXISHSKZOIR 178,200 336,460 £ 158,260
VEEPEEL FETEET] 178,200 336,460 158,260
S2HIIZ ZTZAE Held)
85,0002 1,380 117,300
SRS L2452
25,0002 *203E * 12 60,900
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A 322

Ha: HFe MBEY IH U N HES
cel: Mad|2Y 2 NRHES 20 (Ero: & 9)
_ pSNE e
SRR SAY - BES arey o HRE2
HEZS ¥ HEX 2240 22 6,400 4,500 1,900
Al 3,200
= 3,200
201 Y2yl 6,400 4,500 1,900
Al 3,200
z 3,200
01 A2zt 6,400 4,500 1,900
CETER=Y] 6,400
OHEZS s 24l
800,0002! 83| 6,400
Al 3,200
2 3,200
YSHIIZ +TH 30,000 18,000 12,000
Al 15,000
z 15,000
301 YR 30,000 18,000 12,000
Al 15,000
= 15,000
12 JIEIEAS 30,000 18,000 12,000
OYsHIIZ +ETS 30,000
OHbIL 10021270, 000kg 27,000
Al 13,500
= 13,500
Osotely 502 %60, 0007 3,000
Al 1,500
2 1,500
BE2AAY (BHBE 2,870,682 2,675,282 195,400
olzi2 oy (sH Rz 2,750,089 2,566,204 183,885
olzi2 Y| 2,750,089 2,566,204 183,885
101 Q1244 2,745,889 2,562,004 183,885
09 2IIH 2,745,889 2,562,004 183,885
CEENEE 2,390,994
ollea 1,117, 57021 ¥50% * 122 670,542
OX02 464,083
-1 1,687, 5702 *502 x200% 168,757
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A F2el
M HHE2IHH|(F2eln)
el ol gy| (s el
SN H - SR(EH) - NPAMY - BES 0 &4 o e
. B2xY 1,687,5703 »50F x100% 84,379
. Ma st 1,687,570 x50H +250% 210,947
OFSE R, 144,000
. NHE=E 48,000
—bi = Xt 40,0003 x50E x12& 24,000
-& - dl 20,0003 »2EH +x50 122 24,000
. STYRE 90, 000& 50H 12 54,000
. AT ASY 70,0003 «50H <122 42,000
Oouergsl 39,300& x50 ~12& 23,580
O=cl=4| 347,255
. B4 160,000& «50H « 122 96,000
. JHHEZH 110,000& <50 128 66,000
. WESEXIH| 140,000& 50 « 122 84,000
., SESIH 1,687,5703 *50F x120% 101,255
OxzU2R=E 325,464
. AN2He2Rd
11,4603 »50H 30 « 122 206,280
. REIRREY 91,6803 508 26 119,184
OERRs2f=+¢ 91,680& »50H 52 238,368
Oxtres7E=H 61,1203 x50 19 58,064
OXHSHIE XY 94,438
., USE 420,790& x50 43| 84,158
., S 51,4003 50 *43] 10,280
O0otH = Oty 100, 000& +50& 5,000
Oon=dl 20,200
., AEs 55,0002 x50 «3& 8,250
. Y= 80,0003 x50 » 1& 4,000
. &3S} 30,0003 x50 x2& ¢l 3,000
. 29 15,0002 *50E «1& 750
. 23t 15,0002 +50E x 12 &l 750
o OFZ XTI 20,000% x50 »2H 2,000
. 22X 7,000 «50H 201 700
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2A: SZ 2l
. H¥SIHH(sF 22 )
Chel: ol oyl (222l LR
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
. O3 3,000 x50% 53| 750
osZ0Istd g&83 350,000
O&&Z3 50,000,000& x4H 200,000
O&AZ S2HE & 30,000,000& x5 150,000
ONagss dgoxd 4,89
(@XIE==1s] 855
., A= 55,0003 *3H x2H 330
. gst= 50,0003 x3H » 14 150
. 2stst 30,0003 x3F +2A ¢ 180
. 2, FZ, 0tA3 7,000 3 x3Y x53| 105
. 29 15,000& *3 x2H 90
O=s=t| 90,000 x3H = 12& 3,240
OtEE= 80,000,000& +0.01 800
203 YR F&H| 4,200 4,200 0
04 EN2IYRFLEYI 4,200 4,200 0
ORM2IEHERFAI 350,000 x12& 4,200
ll2dul(stzd 22| 120,593 109,078 11,515
Jl=23Hl 120,593 109,078 11,515
201 Yeregy) 32,753 31,318 1,435
01 At 2t2ldl 32,753 31,318 1,435
oget=&H| 9,233
Oduazd 9,233,000 9,233
o=l 23,520
Oduazd 23,520,000& 23,520
202 (44l 87,840 77,760 10,080
01 =UWol 87,840 77,760 10,080
@ e:1.]! 80,640
OsduaH 80,640,000 80,640
O=2 048] 7,200
Osdazd 7,200,000& 7,200
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